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L. using ke ralne 6 toS 4s And tte valuy S- 
Sin 22, os 22k', ard tun 22%'. 

9. From gin 3o f tue valus sin 1S" 

3. Provc ttat 4 sin 27 = J5+S -J3-J5 
4.9Sn®=- L and 18 9<270°, tiro tte vaues & 

sm ard tos 

S. 9960<9<4so and os i-a tte values &t . 9 

Stn ar cos . 

6. sina= 4, usB = 12, and d,B aTe tt acuu� argas, 

nd os a 

7. 9 9 -240, tue hollooin selaiom te. Sush y 

a sin -Ji+sine+JI-sin® 
8.show tthat Sæx ttamo = t(+ 
9. Sho that Sec 0- tan9 

Sece +tan& 

io.ituout. usir tae prove tuat, sin12 siny8° stn S=. 

. Prove ttat tos 2* J2+}2+2, Hma ird Sin 



12. Pove tthat tan 7= JE-B +-2, 
Shoo tat tan 6 tan 42 tan 6t tan 48 

6 
Shad rar( si 24°- siné)(siy2-st°) = 

+e ta Pme tuat, 

cos cos e 
1-e co 

c eoscas d = casfeos # and Sinqe asinsin 
Sho tat tana ta4 tan 

Sin 9 
tan suouo tthata+26 1Fo

+Sin 

9 = 400eaTine tee eorect Sians in te houowi»g 

identi - sin g t4J+sins t4I-sin8 
suoo ta, one vaue 61 tam 9 tanesina sinB 

tom tan 
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